
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

9369, 3 × 0.001 = ________ 4384, 5 × 0.0001 = ________

2740 × 0.001 = ________ 2946, 4 × 0.01 = ________

6054, 1 × 0.1 = ________ 3278, 3 × 0.01 = ________

5252, 8 × 0.0001 = ________ 4306, 9 × 0.01 = ________

7346 × 0.01 = ________ 1961, 5 × 0.1 = ________

4756, 3 × 0.001 = ________ 1382, 7 × 0.01 = ________

8750, 3 × 0.0001 = ________ 7937, 3 × 0.01 = ________

5797, 7 × 0.01 = ________ 7660, 4 × 0.001 = ________

8121, 8 × 0.0001 = ________ 8690, 3 × 0.001 = ________

4061, 2 × 0.001 = ________ 9355 × 0.001 = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

9369, 3 × 0.001 = 9.3693 4384, 5 × 0.0001 = 0.43845

2740 × 0.001 = 2.74 2946, 4 × 0.01 = 29.464

6054, 1 × 0.1 = 605.41 3278, 3 × 0.01 = 32.783

5252, 8 × 0.0001 = 0.52528 4306, 9 × 0.01 = 43.069

7346 × 0.01 = 73.46 1961, 5 × 0.1 = 196.15

4756, 3 × 0.001 = 4.7563 1382, 7 × 0.01 = 13.827

8750, 3 × 0.0001 = 0.87503 7937, 3 × 0.01 = 79.373

5797, 7 × 0.01 = 57.977 7660, 4 × 0.001 = 7.6604

8121, 8 × 0.0001 = 0.81218 8690, 3 × 0.001 = 8.6903

4061, 2 × 0.001 = 4.0612 9355 × 0.001 = 9.355
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